THM7E3A SFIUEREERNELRER
1 FEERR

(MFILEBERZER
7. B
L =15 215 it |BIEXLEL| ®iE
3 A 0 0 71 71 -9 549
A5t 0 0 197 197 +4 1501
BT -1 -1 +6 +4 -27
PNt
L =15 215 it |BITEXEE
3 A 0 0 85 85 -3
A&t 0 0 230 230 +13
BIEEXEE| -1 +15 +13
(2)SFLUX
7. B
L =15 215 it |BIEXLEL| ®iE
3 A 0 0 50 50 +0 378
A5t 0 0 140 140 +9 1019
BT -1 -1 +11 +9 +1
PN
L =15 215 it |BITEXEE
3 A 0 0 57 57 +3
A&t 0 0 157 157 +12
BAIEXTEE| -1 -1 +14 +12
() EFRNETH
7. B
L =15 215 it |BIEXLEL| ®iE
3 A 0 0 21 21 -9 171
A5t 0 0 57 57 -5 482
AIEXTEE|  +0 +0 -5 -5 -28
PNt
L =15 215 it |EITEXEE
3 A 0 0 28 28 -6
A&t 0 0 73 73 +1
BIEXTEE| =0 +0 +1 +1




